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QUESTION 1

Resource elasticity in Cloud enables which of the following actions? (Choose two.) 

A. Relocate VMs between data centers when a fault is detected. 

B. Deploy VMs across data centers when a new slice is needed. 

C. Add resources to existing VMs when traffic is high. 

D. Add VMs when traffic is high. 

Correct Answer: AD 

 

QUESTION 2

Which of the following drive 5G low latency? (Choose two.) 

A. Support ofup to 1 billion of IoT and sensors devices per km2 

B. Lower Time Transmission Interval (TTI) 

C. Higher spectral efficiency 

D. Edge Clouds 

Correct Answer: BC 

 

QUESTION 3

Your manager started a brainstorming session during a meeting on how automation can be driven in the network.He
asks what tools can be used to increase automated services in the network. What would you answer be? 

A. We need to find a software company that will write software to automate the network services. 

B. We can create rule-based automation. We can also use Artificial Intelligence and Machine Learning to automate all
network services. 

C. We can write scripts that will be executed at certain times when a specific event happens and the service will be
automated in this way. 

D. We can use big data. It is themain tool that should be used for network automation. 

Correct Answer: B 

 

QUESTION 4

You and a colleague are discussing the challenges to be resolved in order to make digitization and automation a reality
in all industries. He is arguing that the solution is to have faster access connectivity, but you don\\'t agree. You are trying
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to convince him of the need for an end-to-end solution. The new 5G network should be built end-to-end to enable
industries\\' quest for value. What arguments can you provide to support your position? 

A. Increasing throughput is not enough. A faster and automated transport network, a distributed cloud where
applications would run depending on their latency and reliability requirements, a core network that automatically handles
any type of access, and a security framework to guarantee the security in every layer of the network are also needed. 

B. The network consists of many layers that include access, transport, core, cloud, and all of the applications running in
the cloud. Increasing throughput in access is not enough. The bit rate needs to be increased in all of the other layers as
well. 

C. Increasing the access throughput might be worthwhile but applications that support ahigher bit rate should also be a
consideration. 

D. Increasing the throughput is enough. There is no need to change the network end-to- end. 

Correct Answer: A 

 

QUESTION 5

You are working in a logistics company. Your manager is telling you that automation is very important to create more
opportunities for the company. His idea is to deliver parcels using drones. With this in mind, he asks you if a 4G network
provides good connectivity for controlling the delivery drones. How would you answer him and why? 

A. Yes, 4G provides a connectivity network but, it is quite expensive. WIFI may be a preferable option. 

B. No, a 4G network is not a good choice for drone control because big operators (with whom we cannot deal) mainly
deliver it. 

C. No, a 4G network cannot deliver the required connectivity. It is not able to guarantee the latency and reliability
required for drone control. 

D. Yes, the drone control application can be hosted in the cloud and the 4G network can provide the speed needed to
reach the applicationand control the drones. 

Correct Answer: D 
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